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So that Jewish women should not be promiscuous, etc.

OVERVIEW

The mwn stated that if one is divorcing his wife 7"w 21wn or because of a 771, he
may never take her back as a wife. Various 2°X1n in the 71wn (namely X" ,n"9 ,>"9)
qualify this rule somewhat. The X713 cited two versions in the name of 7101° 27 why
this prohibition was enacted; one was because of 7P%p and the other because of
mxs.
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These two versions of 3''1 are arguing (only) according to the ?''n of the mwn -
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The first version (of :1777) maintains that since the 7w also teaches regarding

one who is divorcing because of a 2''w -
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And there (by 1"w) the reason of n1x>9» is not applicable, for what can she do if

people are gossiping about her -
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But rather the reason for 217> X7 is because he may ruin her -
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And the latter version (M1¥>19) maintains that by 2''2 X°x¥% he cannot ruin her -
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For since he is divorcing her because of a 2''w, his intent is to divorce her in

any event even if the 7"V is retracted, therefore the reason must be because of mMx17D -
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And similarly by 27171 the reason is because of M1 (and not because of 71p7p)

!'See ‘Overview’; the two MNW? are either M1p%p DWwn or MY™d MWA.

? They cannot argue according to *" (who distinguishes between 0272 771 or not), for according to "3 the reason is
only because of xnmx™»; they do not argue according to »"7 because we have a Xn>12 that »"9 subscribes to the
reason of X2P%p. Similarly R"9 also maintains X29P%p (see later in this oo and footnote # 16-18). Therefore we
need to say that the two mnw? are arguing according to the p"n only.

? The reason why 1 &Y if we assume that it is because of My is that we are informing her that since you are a
%179 (you made 0°771, etc.) therefore we are punishing you that your husband cannot take you back.

* However, the 2" (of Xn1%¥™9) maintains that somehow her actions cause it that there should be a 7"w about her.

> See previous *X 71"7 '010 for a full explanation of X21P9p.

® We assume that he will never even want to take her back (even if she did not remarry). However the p"% (of
X?2P) maintains that if the 7" turns out to be false he would want to remarry his wife.
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for presumably there is one reason (Xn1x¥"19) for both cases of 7"w and 771 -

mMooIN responds to an anticipated difficulty:’
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And now it is quite justified that the X723 cites a proof (from a Xn>72) to the

»'"S, from 2''7 to the p''n -
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For he is not offering a proof that »n"7 maintains %P, but rather that the
concept of X»pop is applicable by 2"'w X% (according to »") and similarly
according to the ?''n -

nooIn asks:
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And if you will say; according the last version of "' that the reason for 217> X?

is because of Xn1X92, but not on account of X71P9p -
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How does the X723 know that the 129 argue with >''9 and maintain that a 972

which was made in public can be annulled; we know the X773 assumes this -
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For the X713 states, ‘and the 3139 will respond to "7 saying, ‘did that 771 take
effect, etc.” —

7 moon just stated that the dispute between the two N> is only according to the p"n; however n" subscribes to
the reason of X71p7p (see footnote # 2). How then can the X713 bring a proof to the "% (that the reason of the p"n is
X?7Wop own) from n'"3, since »"7 obviously subscribes to X219, how is this proof p"9% that the P"n subscribes to
R2PopR?!

¥ mooIn just explained that the Xaw*> of nx12 claimed that by "W the reason of 9179p is not applicable (see footnote
# 6). This will enable us to answer the question posed in footnote # 7.

° The X3 is refuting the stance of the Mx1197 X1w°% (who maintain that X?p%p is not 7w by 1"w), when we see
clearly that »"1 maintains the idea of X7p%p by 2", so one cannot say that it is 7w &?. [See w"w", who amends this
line to read °"w @m® X2 (instead of 1"Ww RX°X112).]

195" maintains that if it was a 027 12 WTW M (which has no 77977) the rule is 21 X% because it is a Rm¥™ID (see
footnote # 2).

' See later on this 7my. The X7n3 there states that *"3 derives his ruling that a 7757 12 PX £°27 12 WTw 172 from ¥y
and the 0°1w23. The X713 asks, so how will the 1137 respond to the proof of >, and it gives an answer. The fact that
the X3 asked and answered this question proves that the X713 takes it for granted that the 1127 argue with "2 and
maintain that a 799712 w° 0°21 12 Ww7w 771, The question is why we assume that. Granted if we follow the p"9, we
can then assume that the 1121 argue with >3, for if they agree with him (that a 7797 17 PX ©°27 12 W7w 771) they
should have said that by a 0°27 12 Ww7w 771 the rule is "1, since he cannot be 2p%pn her (for he cannot say, ‘if I
would have known that this 71977 % @ 773, I would not have divorced her', since this 2°27 12 W7°¥ 771 cannot have a
7977). However if the 13121 follow the 2"9, how do we know that they maintain 77977 17 ¥, since the reason is 2Wwn
XN1¥>9, they maintain that by every 171 (and certainly by 2°37 12 7°) the rule is 7°117° X2 because of Xmx»15?!
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N1B0IN answers:
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And one can say; that this X°39 which assumes that the 1127 argue with >"7 is
according to the »''> that the reason of the p"n is because of »7P%p —

nooIN offers an alternate solution:
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Or you may also say, this which the X723 states, ‘3229Y’, that means (not the p"n

of our 71wn, but rather) X' »''% who say[s] they did not forbid 7%, etc. -
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For they maintain the reason for 271> X7 is because of X9 -
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For even in a case of 2392 9737, which X" may rule 21 X»,"” however X"

stated that they only prohibited 77X because of 799X 19R; this would indicate that

the MO°X is not because of XNIXD -
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For if a 29292 171 is Xn1x>1D 2wn» 7oK, he (k") should have forbidden 13 w7 &Y

2°21 on account of W -
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And not that 7% is 710X because of 7°9% N.

SUMMARY

2 See footnote # 11.

'3 The w"w" amends this to read X7 (instead of *7R7T).

' 9% means it requires a D21 to be 197 the 773; the husband cannot do it on his own. »"2 maintains that only by a
"X it is 7°17° XY, however X1 maintains that both are 971 X7 and 7°7% 1°K 192 XPX 7°7% 170X X7, See *"'w1 on the
ROM 92 7"7 2,00 mwn.

1> Regarding »"1 we know his reason is 2p%p own (for he states so clearly in the xn™13, and) since he does not
distinguish between 2°37 12 w7 and w7 X2 (only between 7°7% and 7> 1K) it is evident that by 7% he always
maintains 217 even by 13 W7 since it has 71197, not like *"1.This proves that he follows 821P%p and not Xxmx»n. We
cannot say that n"9 agrees also to the reason of Xmx», for how can he maintain that by 778 7°X the rule is always
711 even by 2°37 1217 (for there is no concern for 91p%2), but the rule should be 21> X7 by 0°21 12 W7 on account
of Xn1x>15. This proves that he does not agree to Xn1¥» at all; only 2179p.

' Mmoo will now explain how we know that even X" disagrees with *"9 and maintains that % w* 2°27 12 WP 77
7977, Seemingly, since R"1 maintains that in all cases (whether 7°7% or 7% 1°X) the rule is 2°1° X2, so we can perhaps
say that he agrees with "1 that by a 7197717 PR 0°27 12 Ww7w 171 and that is why 7°177° X9, on account of XM¥>15. NvOIN
disproves this notion. See 0"77n.

17°%" rules that in all cases of T°7% (also/even if 2°272 9717) the rule is 2’ X?; however one should not make the
mistake that the reason for 71> XY is because 71977 12 1R (and Mx»™D DWwn).

'8 The fact that "3 only mentions 77X 11°X1 7°7¥ (when he states that it is always 710K), but does not mention 7717
0’2172 or not, proves that 0°171 is irrelevant, for every 171 has a 7797 even 0°272, not like *"7. See “Thinking it over’.
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The two MW (of X7pP9p and Xm¥»1o) are only according to the p"n; however >
maintains Xn1¥>19 and X" n"1 follow R7P77.

THINKING IT OVER

mooIn proves that X" maintains X?P%p rather than Xn1¥>9, since when he was “0IX
in all cases, he was TIX 1°K YK % 713, but was not WT° WX %27 12 WP K a0
However how is that sufficient proof; in any event he is 70 by all 2771, why
should he choose to mention 2°27 12 W7 over 71X ]’N?!zo

19 See footnote # 18.
20 See mwn noma.
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